
Shirt $24.00 
Sale 50% off 

 
Sale Price: 

1 quarter 
4 dimes 

3 nickels 
How Much?  

Cost of a dozen 10 cent 

stamps 

Which would you rather 

have:   
5 quarters or 13 dimes? 

Savings Account 
 
 
 

$ 1 3 4 . 1 6 
 + 3 3 . 5 0 Deposit: 

Balance: 

Production: 
 Cost per item: $1.25 

 Selling price:  $4.00 
 Profit: 

 
 

Buy 3 burgers:  $.99 each  

Pay with: 3 one dollar bills.  
Change:   

 
 

New  
Balance: 

2 sandwiches:        $5.00 
2 bottled waters:  $2.00 

Tip:                          $1.50 
Total: 



$2.75 

$.80 $12.00 

13 dimes $1.20 

$15.50 

$167.66 $.03 



Had:  $15.00 

Spent:      $3.80 
Now have: 

In Canada, 
 a looney is a one dollar coin, 

a two-ney is a two dollar coin. 
You have 3 looneys  

and 3 two-neys;  
How much do you have? 

Savings Account:  
 Balance:    $49.09 

 Withdrawal: $25.00 
 New Balance: 

Price of item:      $1.95 

Handed clerk:   $5.00 
Change:  

Savings Account  
 Balance:   $110.50 

 Deposit:       $25.50 
 New Balance: 

Costs of Production: $3,999.00 
  Sales:           $5,000.00 
  Profit: 

Sale on $34 skateboards    

Half price today only! 

 

Price of  

Skateboard: 

2 half dollars 
2 quarters 

3 dimes 
6 pennies 

How much?  



9 dollars $11.20 

$24.09 $17.00 

$136.00 $3.05 

$1,001.00 $1.86 



 
Theme Park Tickets  

 Cost:   $19 each 
 Buy:    4 Tickets 

 Total: 

Savings account: 
Balance:        $180.25 

Withdraw:    $75.00 
New Balance:            

Sale 4/$1.00 

Buy 5 
Cost:           

Grocery Bill:   

 $43.00 

You have two coupons:   

$.70 and $1.25 off 

Final Bill:    

New laptop 
 Cost:  $750.00  

 Rebate:     $75.00 
 Final Cost:   

Sale 2/$2.98 

Buy 4 
Cost:   

Which is the higher  

week's allowance? 

$6.50  

OR 

12 quarters, 12 dimes,  

and 2 dollars  

1 half dollar  

1 quarter  

1 dime  

1 nickel  

1 penny 

How much?  



$105.25 $76.00 

$41.05 $1.25 

$675.00 $.91 

$6.50 $5.96 


